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QUESTION 1

When a message corresponds to an operation call, what is true about the arguments in UML 2.0?

A. Message arguments must always be constants or attributes of the sender.

B. All the parameters of the operation must be matched by message arguments.

C. A message argument should be of exactly the same type as the parameters of the corresponding operation.

D. The message arguments must the same type as the parameters of the corresponding operation or a subset of the
parameters of the corresponding operation.

Correct Answer: D

QUESTION 2

What does the symbol in the exhibit represent inside UML 2.0 activity diagrams?

A. state

B. action

C. activity

D. behavior

E. object node

Correct Answer: B

QUESTION 3

Ten employees in a department can submit an expense form to have their expenses repaid. manager is required to
approve the expense forms. many actors have we described?

A. 0 actors
B. 1 actor

C. 2 actors
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D. 10 actors
E. 11 actors
F. 12 actors

Correct Answer: C

QUESTION 4

What statements are true about implementation relationships? (Choose two)
A. A classifier may only implement one interface.

B. An interface may implement multiple classifiers.

C. A classifier implementing an interface conforms to its contract.

D. The set of interfaces implemented by a classifier are its required interfaces.
E. The set of interfaces implemented by a classifier are its provided interfaces.

Correct Answer: CE

QUESTION 5

Which statement most accurately describes the UML concept of actors?
A. Users may be actors.

B. External systems may be actors.

C. Users or external systems may be actors.

D. Users, external systems, or sensors may be actors.

E. Users, external systems, or internal databases may be actors.

F. Users, external systems, internal databases, or sensors may be actors.

Correct Answer: D
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